| Smallest Wetland/Watercourse Bufer to Nearest Limitof Work |
Wetland/Watercourse Distance |
Wetland 1 (Ketch Brook riparian) ~ +42' from rail crossing access, + 111' otherwise |
Wetland 2 +777' i
Wetland 3 +0' (existing disturbance for farm operations) |
Wetland 4 +333'
Wetland 5 +192'
P Wetland 6 +202'
Wetland 7 1450
Wetland 8 +374'
Wetland 9 +222'
Wetland 10 N/A
| Wetland 11 N/A
Wetland 12 +205'
Wetland 13 +371'
Wetland 14 +12'
Wetland 15 N/A
Wetland 16 N/A
Intermittent Watercourse WC—1 +120'
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